()

1. Consider the portion of the parabola

y=x"+2x+3 with —2<x<1

Find the point on this curve that is closest
to the point (1,0), and the point on the || | |
curve that is farthest from (1, 0) i m (150)1—
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2. The graph of y = f/(x) is given below

' (a) Where does f have critical points?
% 4 (b) Onwhichintervals is fincreasing? decreasing?
/_ |
o Name 7 (c) What are the x-values where f achieves its
/ 2 \ / local min? local max?
/ e & —— (d) Where does f’ have critical points?
y=F'(x) o _ _

This is NOT y = f(x) ! (e) Where is f’ increasing? decreasing?

Math 101 Calc | (T. Ratliff) October 7, 2024 2



